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SECTION—A
Answer any ten of the following questions : 2x10=20
1. Mention two instruments of fiscal policy.

2. Distinguish  between  automatic and
discretionary fiscal policy.

3. What is meant by labour regulation?

4. What is the difference between purchase
and procurement?
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State two factors responsible for poor
performance of agriculture in Indian
economy.

Dis'tinguish between growth and
productivity.
Mention two advantages of industrial

diversification.

“What do you mean by foreign investment?

Distinguish between public sector and
private sector industries.

What is the another name of service sector?
When did service sector start in India?

How many types of service sector are there?
Name the fastest growing service sector in
India.

Mention two reasons for the growth of the
service sector in India.

Define social sector.

Why is social sector important? Give two
reasons.

What is meant by nutritional security?

{ Continued )

(3)

SECTION—B

Answer any five of the following questions : 10x5=50

16.

17.

18.

19.

20.
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Explain in brief the various objectives of
monetary policy. Also add a note on
interrelation of monetary and fiscal policies
in an economy. 6+4=10

(a) What is trade and investment policy? 2

(b) Write a brief note on trade and
investment policy reforms. How did it
lead to economic growth? S5+3=8

What does agrarian structure mean? Discuss
briefly the advantages and disadvantages of
technology in agriculture. 2+(4+4)=10

What is capital formation in agriculture?
Discuss in brief the role of capital formation -
in agriculture. Mention three ways in which
capital formation in agriculture can increase

the prospects for agricultural exports.
2+5+3=10

Discuss in brief the role of public sector
industries in Indian economy. Point out the
various problems associated with the public
sector industries. 5+5=10
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21. Distinguish between competition policy and
competition law. Discuss in brief the main

objectives and benefits of competition policy.
2+(4+4)=10

22. Analyze briefly the recent trends in India’s
service sector. Also examine the challenges

faced by service sector in Indian economy.
5+5=10

23. Make a brief note on fhe role of service sector
in India. Discuss briefly the impact of

economic reforms on service sector in India.
5+5=10

24. Make a critical evaluation on policies and
performance of social sector in India since

Independence. 10
25. Write short notes on the following :- 5+5=10
(a) Education—An engine for social sector
growth
(b) Role of nutrition in enhancing labour
productivity
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